RERAER—E

=] = % kg

FOFIRZFADME GERED) 11,000
—fE M ER (3530 6,600
— e rE R 3,300
EFmERE (BBE 11,000
BREEERE 5,500
REMZZ R % 3,300
EENT 7ICET 2iERER 3,300
EERx - @EE (BBH) 11,000
EEIEHRIEMHE 3,300
PEMKES 3,300
BOLOFEAIRE 4,400
* LY REAEER 4,400
wEE GYFR) 110,000
%&EE;EEIE?EJEF% 3,300
ARAEERE 3,300
BRENDOSBEAREEIRESIHE 3,300
fEERERIgER 3,300
RERERICET 2 2EIEHRIEHE 3,300
R I EA K 3,300
ERATE 3,300
HBEEEZHE 11,000
ERFE® - EEFERMEZIE 11,000
ERNEEREE/RESZRZHNE 11,000
TERRAERAE 3,300
MPEXIES— b 5,500
PR 3,300
FRERRE 3,300
[EEEBESIMNE 11,000

fEERIEREEFEAEKRERSE 5,500
[EERBUFURELHE NESH) 11,000
[EERBUFURELHE (RETEHA) 11,000
fEERREAZKHE 5,500
[EERAY —EXREMNBICBITIEENT THERX DT (EER) 3,300
NEIEEEREER %ﬁ Ea‘nr“uﬂg_fl/\ﬂf 5,500
NBIBHRERREREKICHh 2 EEERIEOEEIAS 3,300
SAAGERAE R 550
T ZHTE 4,400




FRRNER—E

=] = % kg

SEREEEAOZKE (RETBEHA) 11,000
BHREEET AV —ECXABEIRICHRIERE 3,300
Z RS 3,300
BESREAZIE 11,000
KAJBEERE 3,300
T CZHE (Fhm) 11,000
BHRELICL 2BRERELNEEEIME (58%) 5,500
BEREELICL 2EEEFIR WS 5,500
RERBRAZHE (REHYATRE) 11,000
SRR AZ IS 11,000
SBRAIRRE 1,100
BT E 3,300
BATICEE T 2 IBIRIZHE 3,300
BERES 3,300
TA T T REEXER 2,200
ZRGIRE 1,100
FREEEFURELMNE (RETEHA) 11,000
FREEEFURELME (BHOEEH) 11,000
FRl RERBFYURTELZHE (INES - BHESH) 11,000
FRIREREFLURTELNE (BETB8HA) 11,000
R BT BRE 5,500
ABRBRE 3,300
HEEEREERE 3,300
KERE (BT 550
VELUHREABERRE 3,300
RBEEKRE 3,300
WREX(TEKHE (AL V) 4,400
HEARMEER %$<$v¢ =2%)) 5,500
HEEVEERFHLE 5,500
jJ'EL:E%T%Fﬁ%uEﬁE 3,300
EER 5,500
ﬁﬁ#—tx$ﬁ% 3,300
UNEUIERE 3,300
Yne ) IERIREER 5,500
BRARAEEAE 5,500
PCIT 2,200
MR GE 3,300




RERAER—E

=] = % kg
BE —& #HE 270
BE 48 230
BE —ik EBE 650
BE —& Y8 650
BE R 100
BE EBR 230
REEEE ¥5000 5,500
FHk (B2 1,100
FHK (#1%2) 5,500
BREEAREAL (1 EEUL) 16,500
BREEAREmAL (1 FEREUA) 11,000
R REE R (B%) 11,000
Rl REEZRE (#0E) 22,000
FanfRERERE A (1 RFBUA) 11,000
FapfRERERmE A (1 RFBUE) 16,500
thy FHe=# B (1) 22,000
Thy FAe=F 8% (BamgElsa9%E) 5,500
makl (1) 16,500
m#k (REES) 11,000
makl (1BREURW) 11,000
X#RICBAd 258 (B @ 3049 5,500
X740 LCDaE— (1HIZDE) 1,100
KpHE 10,000
x¥E (fH) 100
ITroEiLty b—3 16,280
ALTERICHEZ -/ (1KICDE) 110
ANLTRRICHRS FEE (FBXIG - SiARR) 1 EHE 3,300
HIILTRRICHR 2 FHER (RS - 38R 1 BEfE 11,000
TalzEHE (1~78) 550
MAZEEHE (1~78) 550
SUh=—a—L - T7PvRA L7414y b 3,750
SUHZa—L - ILETETIFFTLY IR 1,830
SYh=—a—L - 5 6,160
43 77
B FOHHK 3,300
xaE (B) 150
ae—#x 110




RERAER—E

=] = % ke
FEATR R B 3,300
TER 1,650
PRERKT 110
BEHRBIEMRDERICHRLEE 550
B SRR EIRENRMEE 3,300
BRAREKRDI -8 1,100
t—T7F4 -1yt 4,840
REEFAE 660
ZANL (NdrL) (B) 50
zAIL (ANmB) (B) 100
EHA AP E SRR 5,000
Fa—bErsaxsa— 188
TATTRE (EXR) 4,136
TA T TR (BREE) 13,442
TA T REZ (BRi) 5,610
TA T T2 (LWER) 1,430
T4 TEZ (R) 286
TATTREZ (X-P) 2,310
v bhPa2—2Xx 132
AR~y FEHE (1~71H) 110
EIA . N) 130
Ny v (18) 100
SIVRFF A —R—EHE (1~7H) 550
RAURTy r300ml 132
RAYUZRTy F250m | 132
RAYUZXZTy F500m | 165
1 —X 66
R 430
3—2 bk 110
AR 110
Yy I322—2100% 110
BB (7742 —GLS) 90
wHELD (A F—R) 35
HHED (£ F—RLL) 50




7 on—n"— p&ek

VNN

18 B % Bl
G-hrL—z=vs [E72 0] 2,750
G-htL—=vrEEE [T/ 0] 22,000
G- hL—z=v#%ME [w7270) 715
G- hL—=r7¥mE [v77 0] 5,500
S-7L>X#ME&E [T A] 3,300
S-7LvXEHEE [T/ 0] 22,000
S-7LvX [77n1]) 2,750
BERZ [v77 0] 3,300
EEERETE (77 0] 16,500
faRmeE [t77A] 5,500
ERIAEz% (0T /ST) 404 [€72A] 5,500
ERIAEz (0E2 04) [t72nA) 2,750
ERIHEz% (0T /ST) 6 0% [€7~A] 8,250
HYyh—oL—7 [£7 27 1) 3,300
sEEETH [v7 7 0] 550
Hkpesrm [ ~7 7 0] 16,500
DERH (77 0] 5,500
DIERRERNEE (2 Bi1) 5,500
DIERRERNEE (1 8AD) 2,750
HEERTE [t 7 7 0) 16,500
M - EREE (77 0) 6,600
7y non—7RER GEER) [t77A] 850
7 oa—N—EBEXEERIEKX 309FT 6,600
7oA —N—EEXEFHREHK 61~90% 16,500
7oA -—N—EEXEFREHK 31~60% 9,900
MFETHE (€72 0] 16,500
A (w77 8]) 3,300
B8 FH (€77 0] 1,100
ICZICZON—TEFEE [ 7 A] 4,400
icziczon—7 72 na] 3,300
ICZlc 2O —TEME [t 72 0] 550
FRBIN—THME (€77 0] 3,300
FRBINL—T [7 7 A] 2,750
ERIBIN-TEHE [T/ 0] 22,000
HEEEEBES (6 04) [w72 0] 5,500
s rL—=v [v7270A) 5,500
vEaviL—=vs (UL—7) [£770)] 3,300
Evarvbl—z=vs (UN—7) & [w770) 1,100
easr7 (304) [t7sn] 2,200
eas7 (604%) [t77n) 4,400
BEEHEOE LD 5,500

X7 von—N—FXZ0HENENIER L
2T [E7v70—n"—] NICEEHINET,



ThiERE Hex

15 B % kg

EFL

B-C:-G 8,800
B BUFF 4 FBh#EE 8,800
AENy 7 ZRY F FRhER 12,100
A 7T Y FRHERE 4,950
A v 7T Y 2 BB FHERE 2,640
Bl S AIBFHERE 8,800
SWEA V7L YR ERE 2,500
—EREA 7,700
—EREESFHERE 7,700
NBRAKE (LT —) FRhEEE 13,200
FTEENAT 7 F > (21f) 17,600
FEENAT I F > (91f) 27,500
FEENAT I F v (410) 17,600
OO FTANRTIF v 17,600
KEFBHERE 9,900
VR g ) v ROGHIE 6,600
“HERSFRHERE 7,700
H 2B 2 F B e 8,800
FAERE (Z2—FENNv I R) FHhEE 9,900
FAERE (Z2—FENNv I R) FHhEE 6,456
WiEE (F¥v A F) FEhiER 7,700
A B T Bh s 7,357
77 0F v 9,900
BB FBhERE 8,800
% - B (MR) B&7 7 F v EE 12,100
R ¥ bh TR 8,800
¥ BhIERE TR 5,500
FEhERE TS 5,093
UiE RS FhhEEE 12,100




